154

thg3t go

ille

® @A
® @t
® BF gHUL,

AAZAA 27} 1 2

@ @
@ @4
D) 4 g,

@ 72, A=, Bl
QL.

Z¥7Z¢ v

=

=

I

wafo] A Rulg v)ng

6‘1—




2.

2 FOA 3: 49 T2 AL RE IEAQ,

D 15: 16 @0.6 0.8 @i :

@ 13:14 ® 35:45

W =

~&B

] o] 25} ] oo
Lol ] o] ghe WahA] seth
3:4=(3=5): (4= 5) =0.6:0.8

E
rC
my
rlo
-
i
I
_o|l|‘
N
T

3:4= (3+12) : (4+12):1:%

W~




=% Qbefl S

®1:2=] ]:12
® 30:] |]=25:5
® ]:18=7:21

P47t o2 212 ol el
@)3:4=6:[_]
@ 5:3=10:[ ]

D, ®, ®, @[ [gto] EojZ =

@2 [_Rtoll &% &

8 oJt.




4.  Zol7b1m¢<l =#refe] 1A} 0.6 metar FTh e A7 197t
Zo]7k 84m<l 72 Fol B melA] oAl L,

@D 10m @ 11m ® 12m @ 13m ®)14m

B
(Zo]):(28A)=1:06=10:6=5:3
U29] oS [ et 5t
5:3=[_]:84

3><|:|:8.4><5

[ ]=42+3

[ J=14(m)




F 5 W4y Aol o] W BA Ul Yt e shts
AlL.

ST
o

11|

QTM 60cm? Q1 A& e] WA Wolrk xem? L ),
EOl= yem Yyt

@ A22 7 5 8ol Zol7t A% Gem , xem A AZAAG
HolE yem? Yyt

® A% xkm 2 3 A F<HE¥ ARl= ykm YYTh

@ {F O] Zol7t xem ¢ BAME
Yyt

© 18 B Wt 57k 85 A o, x B H F Wy Que,

1o
it
I,
1o
N
-9,
rr
3
=

@ & otﬂiﬂﬂ o= (BHo]) x (=°])°]BEE xxy =60
@y— X6Xx=3Xx
(ﬂa) = (H8) x (A1 BEZ y=3xx

@y=4xx
®y=85xx




